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PRI &8 Bl PhiE Ty | BF GoalTime
BF | 200mBAX RL— hs B 'Y RSV PR 10m | 4 3:04.80
BF | 200mBAXRL— L B8 2V R3IL FiR 11i% | 1\5 24699
gF | 200mBAX RL— Mg N2 Y R3SIL PR 1% | M5 25593
BF | 200mBEAXRL— & BA 2V R3IL FIR 11i% | 1I\5 2:58.90
uF 50m/N\S IS5 ik 'Y RSV PR O N3 0:38.86
uF 50m/IND TS+ B IME vV R3IL FiR ik N3 04350
B7F 50m/N\S IS5 Kk OIRE YRSV BRIR 8% n2 05168
uF 50m/IND TS+ BA BN Y R3SV FIR ik N3 04015
87 50m/N\F IS5 {III-CUS 'Y RISV PR O 4 03687
uF 50m/IND TS+ E&S/@k Y R3SV FIR 10m®% | 4 03710
TF 50m/N\F IS5 af 8B 'Y RISV PR O N3 0:38.82
BF 50m/N\F IS5 e =% 'Y RIIL PR O N3 03715
BF 50m&xE NI =R TV FIIL FPIR 8% nz 0:49.00
uF 50mEkE PE HBX LY RIS RPIR Tk I 1.03.05
BF 50m&EXE BwR EA YRS BFRIR Tk h2 1:01.31

aF 50m&EkE RELCRE TV R3IL FRIR 8% n2 1.03.57
87 50m&xXE no 18s Y RS BPIR 8% n2 1.06.45
a7 50m&EXE SBDH TV RIIL PR Tk 1M 05913
gF 50m&xE BA BE Y RIS BRIR 8% n2 0:56.54
BF 50m&EXE BNEGRE YRSV FFRIR Tk 1M 1.01.26
gF 50m&xE BRIE 2 Y k3L PR T 1\ 05574
87 50mExE B BN Y R3SIL PR Tk I 05657
87 50mEsikE ht+E Y 3L PR 8% n2 0:49.26
a7 50m&EXE RHFEF TV RIIL FPIR Tk n2 04894
87 50m&xE mE Y k3L PR 8% n2 0:50.41

BF 50m&EXE B =D TV RIIL FPIR Ok N3 05593
87 50m&xE e N = Y k3L PR T I 0:46.21

a7 50m&EXE BA BN TV RIIL FPIR Ok N3 04478
gF 50mExE EEL LIS Y F3SIL PR O N3 04257
uF 50mEskE R8BIk Y L3I PR 10/ | 4 04497
gF 50mExE INFE - #E5R tYF3SIL PR 8% n2 0:46.91

87 50mEkE hx =E Y L3S PR O 3 04055
87 50m&ExE s B tYRIIL PR 108% | /4 0:39.13
BF 50m&EXE =WU BEXR LY ERIIL PR Ok n4 0:39.26
gF 50mExE BH BR Y R3SIL PR O N3 0:3997
BF 50m&EkE STRFRARR LY ERIIL PR Ok N3 04084
gF 50mIKE hE HBX Y L3I RPIR Ti% 1\ 11237
87 50mILHKE no 188 Y R3S RPIR 8% h2 1.06.94
gF 50mIKE SH<BDH tYRISIL PR Ti% Iy 1.0812
87 50mILKE BN EETRRA Y R3S RPIR Ti% 1\ 11945
87 50mIKE VTIN5 tYRISIL PR 8% h2 1.03.82
87 50mILKE B BN Y R3SIL PR Ti% I 1.00.22
87 50mIKE kORE Y RIS RPIR 8% h2 0:55.66
87 50mILKE BAR EA Y R3S RPIR Ti% n2 1.00.61

gF 50mIKE INFE - #EBRE tYRISIL PR 8% h2 1:00.06
fosa 50mIKE BRUS 2 LY RIIL FIR Tk 1N 05725
87 50mIKE E1 N = tYRISIL PR Ti% Iy 058.14




BF 50mIkE mE Y L3I PR 8i% n2 0:56.83
TF 50mILKE BN B35 LY R3SV FEFRIR 8i% 2 obe4r
B7F 50mFkE B =% 'Y RSV PR O N3 1:02.49
uF 50mFHkE B IME 2V 3L FIR ik N3 05313
uF 50mIkE BHFET Y R3SIL PR T n2 0:54 .56
87 50mIKE AN Y RISIL PR Ok 3 04846
BF 50mITxE =Wl BX LY RIIL PR Ok h4 04944
BF 50mFHkE h+=E A 2V 3L FIR 8i% 2 05340
BF 100m B % B8 Y R3S PR 11 | 15 11124
BF 100m B & BA 2V R3IL FiR 11i% | 115 11592
uF 100mIxKE Mg N2 Y R3S PR 11 | 15 12784
uF 50m BB PE HBX LY RIS RPIR Tk I 0:56.05
a7 50mBadf SHEBDH TV RFIIL FPIR Tk 1M 05736
uF 50m BB BELTRE YRS RPIR 8% h2 0:55.66
87 50m B no 18s Y RS RPIR 8% n2 0:5590
87 50m BB BB A Y ESIL RPIR Tk I 1.0272
uF 50m B sk B3 Y RS RPIR 8% n2 0:52.05
87 50m BB B BN Y RIIL PR Tk Y 04887
BF 50m BB NI =R TV FIIL PR 8% n2 04897
87 50m B BwAR EA LY RIS RPIR Tk h2 04591
uF 50m B BRI Z Y k3L PR T 1\ 056232
BF 50m BB B =D TV RIIL FIR Ok N3 04575
87 50m B ht+E Y 3L PR 8% n2 04272
BF 50m BB mE 18 TV RIIL FPIR 8% n2 04244
87 50m B kORE Y RIS BRIR 8% n2 0:39.69
BF 50m BB g s TV RIIL FPIR Tk 1M 04539
a7 50mBadf & IMGE Y EIIL PR Ok N3 04082
a7 50m BB RHFEF TV RIIL FPIR Tk nhz 04266
gF 50m B BR 2 Y k3L PR O% N3 03947
a7 50m BB Il Bk TV RIIL FIR Ok N3 03754
gF 50m B INFE - #E5R tYF3SIL PR 8% n2 0:39.69
uF 50m B BBk Y L3S PR 10/ | 4 0:36.49
a7 50mBaf oHF BR LY RIIL PR O N3 03574
87 50m BB STINFIARR Y L3S PR O N3 0:3523
87 50m B hx =E Y R3SIL PR O N3 03412
BF 50m BB hS B LY ERIIL PR 10m% n4 0:34.31




